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TABLE 1. 0 — ¢ 5288, P=3,h=1

m =10
a FIKB (RN p &8 e (pe) DU A K
117 3,2; 13, 1] (A )
796797 3, 6; 1093, 1] (A )
423644039001 [ 3,12 ;797161 1]
(A Z8)
m =1
5 . 1)
14 2, 1; 7, 1]
15 3, 1; 5, 1] (A )
231 3, 1; 7, 1 11,1] (D %)
1107 [3 3 41 1] (A )
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TABLE 2. £% 5228 ,P=2,h =3

k 5 KI5 —m % [R50 g ol
22 2, 1; 11, 1] 116 2, 2; 29, 1]
92 2, 2; 23, 1] 520 2,35, 1; 13, 1]
376 2, 3 47, 1] 2192 2, 4; 137, 1]
6112 2, 5,191, 1] 36416 2, 6; 569, 1]
24512 2, 6; 383, 1] 146560  [2, 7: 5, 1; 229, 1]
6290432 [2, 10; 6143, 1] |37734400 [2, 11; 5, 2; 11, 1; 67,
7125232 [2, 4; 97, 1: 4591, 1]|42151456  [2, 5; 23, 1; 57271, 1
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TABLE 3. FH E& P =2,h=3,m=—116,k = 22

eSS A
66 2 1.3 111 1]
110 [2,1;5, 1 11, 1]
154 [2,1.7, 1; 11, 1]
286 [2, 1; 11, 1; 13, 1]
374 2, 1; 11, 1; 17, 1]
48 [2,1:11,1; 19, 1]
506 |2, 1; 11, 1; 23, 1]
638 [2,1:11,1;29, 1
682 [2,1:11,1; 31, 1
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TABLE 4. 8 5288,P =2,h =3,m = —520,k = 92

a EJISE-Tay

92p [2,2:23,1; p, 1] (8% fif)
1306112 [2,9; 2551, 1]
5757952 [2, 10; 5623, 1]

38016908 [2, 2; 37, 1; 61, 1; 4211, 1]
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